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Compare and contrast these terms 

1. Liner service versus tramp service 

2. FOB versus CIF 

3. LCC versus FSC 

4. Transportation policy versus transportation regulation 

5. Tapering rate versus flat rate 
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Global economics affects the operations of maritime industries, so shipping firms and 

freight charges need to response the change of supply and demand quickly. 

Assume you were the CEO of ABC tramp service company to make decisions for 

following scenarios. 

According to current shipping freight (F), leasing fee (LIF), hire base (H/B), and 

charter base (C/B), ABC tramp service firm is wondering which actions (A: Operating 

owned-ship. B: Operating chartered-ship. C: Pure ship owing not operating. ) would 

be adopted to maximize profits or minimize losses with clear rationale (calculate its 

profits or losses). (each 4%) 

Scenario 1: H/B=$70, C/B=$ 60, F$ $180, L/F=$90 

Scenario 2: H/B=$100, C/B=$ 120, F$ $180, L/F=$110 

Scenario 3: H/B=$80, C/B=$ 90, F$ $160, L/F=$60 

Scenario 4: HIB=$100, C/B=$ 60, F$ $190, L/F=$135 

Scenario 5: H/B=$135, C/B=$ -35, F$ $85, L/F=$35 


